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HougAlH| 140,0009x1%x12% = 1,680
47 R A 2,105,86091x40/35x84%x86%x1/30x1/7x70AIZt = 580
2g224) 135,6202x13x122 = 1,628
CHRIE S| 50,0002x1 2x35/40A 17128 = 525
el 42,053,37024x8% = 3,365
R 24,067,000%x5% = 1,204

03 BR(RI|PehIZAA 1355367 1418618| 163,251
OBR2 (GE2 25%) 1,355,367
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(700)ATHEIE  Sh(710)HEEIE  Mgh(752)34EeErkateE|  =:(101)14H| TRl - X
=2 2] Lz
so s ot | Gia | B2

== 3,163,500%x25@x12& 949,050
=LY 120,000&x25%x 12 36,000
ARRIZES 25,980@x25%x15A|7kx12& 116,910
FUEAH| 140,000x25%x 12 42,000
FHR/H 1,898,100&x25%x23] 94,905
Az 138,560x25Bx 15 51,960
ez 1,290,825,0009x5% 64,542

04 7RHAHZZASES 80,142 0 80,142
OFEdY 7IHAHZ24t Q1AB|(F2 & E|2IR} CHA|I) 72,139
= 2,814,400%x2Ex10& 56,288
J1ZE40 100,000&/x2Ex10& 2,000
ARIRIZESG 23,240x2Bx15A1Zx10& 6,972
FUEAH| 140,000%x2Ex 102 2,800
FHRH 800,000¢x2Bx 12| 1,600
Az 123,920x2Ex 10 2,479
O7 222 = (+=H2) 8,003
== 72,139,000&%4.5% 3,247
ay=d= 72,139,000%%3.495% 2,522
LoIRTIAEH 2,522,000¥4%x12.7% 321
NEEHZ 72,139,000&x1.75% 1,263
AREE= 72,139,0002/x0.9% 650

107 El2=d% 0 60,000 260,000

01 SFRAR7 A I2AE—REH 0 60,000 260,000

200 =7 2,510,776 2,335,788 174,988

201 YRR 529,836 378,348 151,488

01 AR 138,700 124,400 14,300
O2AAZ| o D2k Q1) 140%94x22%10,0000H 2,800
OFEAZY| S| 1Y 3,000
=207 50,000%x5071 2,500
= 5,000 10071 500
OotrEEAIEZ TIHAMAL Q1LY 50&x73x10,0000H4 3,500
OstrAER 2 2 AUE S A% 50@x2Zx50,0000H 5,000
OF=AZY| 43 2238 7Y 3,000,000 3,000
OdotrEAEZ 1AM QUi 76,000
-QIEFEEH| 40¥x950,0000H 38,000
AR A2 40¥x950,0000H 38,000
odd ¥ Agdsy ni=y| 11,600
2= (ER g 300,000¢x29E 8,700
21 ASH RS Wotsl) 100,000&x29Y 2,900
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2 (700)ArEHIE  @(710)FYHIE  MIEh(752)dr2egteld] =:(201) Y8k EH| e e )
n
B sy | S8 | 33
Odzl aE ORaRat S| 50,00094x22Hx 128 = 13,200
Obraiiz| L A 2 ORISRt S| 50,0002x5@x 128 = 3,000
Ot em dE HAIE 1E3K(R2HIY Mu|A 115)

17,600,000¢ = 17,600

02 3529t 170,324 74,950 95,374
Ot AE R Z28 {24 2,869,200¥x12¢ = 34,431
O7iRIFEEST T2 FR|HH| 275,0008x12¥ = 3,300
OZAZIZ PDA FA|E4H| 17,420
L2 FR|24eH| 361,000&x12€ = 4,332
ARE 7Y L 2| 100,000&x200 = 2,000
O|STHUY| S4lH| 33,0009x28CHx 128 = 11,088
OADIEAZ] AL FR|E4H| 115,173,000 = 115,173

(NI = = 103,896 95,880 8,016
OAIBIIE 71U R 5,100,0009x12¢ = 61,200
Ol g7 2 570y =8 50,0009x12¢ = 600
O7 1Az MB|IA 2 80¥!x25,10021x12¢ = 24,096
OASO0[A| = 509x23,0002x 128 = 13,800
OZ8ZAId HLHED) H&s= 250,000x12¢ = 3,000
OAROIA| MB[A = 100,000&x12¥ = 1,200

13 Yzi= 2,040 3,840 A1,800
OXZ|M £¥E niTalE7| Qx| 170,00094x12¢ = 2,040

21 33e=LAHA 109,476 75,198 34,278
OAEd+ JUE Stz 25,000¥x2CHx 12 = 600
OA|eas Al87tE Y| S4= 12,000x2C0Hx12¢ = 288
OA|eas 212 AlMEa= 1,560
B3z 700,000&x2CH = 1,400
ALSAA| 80,000Ix2CH = 160
Ol ABR 2t U A fH= 4309Ix4,0000x 122 = 20,640
OslrAER 21t 22 AMEl = 510
B3z 350,000 1Cf = 350
AFSAA| 60,000¥x1C = 60
SRS 50,000&x1Ex25| = 100
OADIEAHZ! AAR S4 AR 85,878
MH P AFEZ 116,4809x12¢ = 1,398
AOEAZ] T S4l ARBR 16094x44,0007lix12% = 84,480

22 zfEMEH| 5,400 4,080 1,320
OA|ede 212 RA|2H| 150,000/x2CHx 128 = 3,600
Ol AI8R 21t 22 FAl22|H| 150,000/x1Cx 128 = 1,800

202 Oft| 44,100 20,160 23,940

01 =Ljoqd] 44,100 20,160 23,940
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(TOOMIEIE  SHTI0AAIS  MBE75)HAULE IR 2:202)08] (ctel - 242l
2 2 L=
TIERE Ao | Fiia | B2
YF=R 7120 120,0002x15Fx12& = 21,600
O3 224t 0|3 1,500%x25Bx408|x 12 = 18,000
O3R2 =4 32 A28Y oy 180,000%/x25% = 4,500
2|2l E| 51,840 50,280 1,560
g 2| 27,840 26,280 1,560
SEZH| 27,840
65 175,000¢x4Ex12E = 8,400
= 165,000@x7Ex12E = 13,860
-89 155,000¢x3Ex12E = 5,580
E4YR 3| 24,000 24,000 0
|RSA S2H 80,000¥/x14¥x 128 = 13,440
Mg Bt AR HY3RA 80,000¥x11&x12¢ = 10,560
214 AR wA|H] 1,885,000 1,887,000 22,000
A7 || 1,885,000 1,887,000 22,000
IEHY ALY 5 1,885,000
Al T S0 H3 145,000€/x13,0007 = 1,885,000
ol 163,159 166,897 A3,738
303 Za= 10,500 10,500 0
Z4E 10,500 10,500 0
a3 L Ay 2y AzE 10,500,000¥x13| = 10,500
Aafdas 152,659 156,397 N3,738
AaRES 60,992 63,838 N2,846
SRA(F=ER) 22Kz FE=E 1,355,366,250¥%4.5/100 = 60,992
TUHLEHREFS 91,667 92,559 A892
O7[ERl(r=25d%) 28z REe 2,198
Faralzial=d 38,689,0009x3.495/100 = 1,353
QIA7ILYEHZ 1,353,000€9x12.27/100 = 167
NEHSE 38,689,000¢x1.75/100 = 678
S (ed) 2Ed= REs 89,469
ALk 1,355,366,250€%x3.495/100 = 47,371
Y7 |IQULHR 48,659,000%x12.7/100 = 6,180
gnEsaien=d 1,355,366,250%x1.75/100 = 23,719
ARiEdz 1,355,366,250€x0.9/100 = 12,199
IHIE 6,987 8,709 A,722
779 7|EtEYIHIE 1,687 1,709 A22
802 Bret=7(EL 1,687 1,709 N22
15 7|EIHYURHIE 1,687 1,709 N22
OsleEAREZ MAIRE 0|2} Bhet 1,687,000 = 1,687
782 HI|EQeEEA 5,300 7,000 21,700
Bret=7|Ef 5,300 7,000 A1,700
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Migh (782) 47| E~gid

2:(302) 28127 |E}

=)

= oaey | SRG | B2
14 d7|EQleded 5,300 7,000 A1,700
O EARZ Nt 2t 5,300,000¢ = 5,300
800 OfiH[H]| 200,000 200,000 0
801 Oj|H]H| 200,000 200,000 0
801 Of|d|H]| 200,000 200,000 0
01 utojH|H| 200,000 200,000 0
O0f|HH]| 200,000,000 = 200,000
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=T Al &1l






A 2 0f| LA (A E)
[ AEAH]
TI00ABIE  BI0SBIS  ME:TIIHEA 21002121 (el - 212)
7 =2 2] Lz
= -%;-PHT@* = oo | Sig | 83
A 10,639,065 11,799,649 21,160,584
700 AtHIE 10,639,065 11,799,649 21,160,584
710 ggHlE 10,639,065 11,435,649 A796,584
713 Hi-g<H| 9,139,065 10,435,649 21,296,584
100 QI7iH| 2,356,317 2,375,452 A19,135
101 QlziH| 2,206,317 2,335,452 A129,135
01 B 1,628,507 1,732,208 A103,701
o’leg 1,169,518
S2(HSAl) 6,969,300&x1Ex 128 = 83,632
=302 8) 4,409,100%x9%x 128 = 476,183
7=2(2522) 3,830,300/x8Ex 128 = 367,709
8=(1528) 2,908, 700%x3Ex128 = 104,714
9=2(10&8) 2,288,000&x5Ex 128 = 137,280
o4 277,684
qd2e 1,096,857,600%x1/12x50%x28| = 91,405
e =) 25,200
-25E 0|4 130,000&x10Ex128 = 15,600
-15& Ol 20 o2t 80,000¥x10Ex12E = 9,600
e3P HrY 34,601
-6 4,409,1009x9Hx4 1%x12¥ = 19,524
-7g 3,830,300x8%x4.1%x12¢ = 15,077
= 16,800
-HiA} 40,0002x20Ex12€ = 9,600
JEPIE 20,0009x30Hx12¢ = 7,200
e 92,638
o= 12,32 1x9HX28A|Ztx 128 = 37,259
a=1 11,130Ix8HX28A|Ztx 128 = 29,918
-8 0,9924x3HX28A|7tx12¥ = 10,072
= 9,160X5EHX28A|7tx12¢ = 15,389
S e 50,0009x12Ex12¢ = 7,200
L ES 40,0009x1Ex12¢E = 480
Vs =Ry 30,000¥x13Ex12E = 4,680
llegEaY g 30,000¥x13Ex12E = 4,680
OZUZgAH| 140,000¥x26EHx12¢ = 43,680
OFAEZIH| 1,096,857,600%4%1/12x60%x%23| = 109,686
OCI7tE4H| 1,169,518,000%x1/12x86%x1/30x10 = 27,939
03 JFAERI|AHZ=AES 577,810 603,244 N25,434
OBRA (A2 49) 266,848
Jlgg 3,200,000/x4Hx 124 = 153,600
12 2,880
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[ SEAIEY ]

Z(700)AIRIHIE (710 FHIE  MIBE(713)8-2=H]  =:(101)Q17H| (T @ 242
n
%-@L&ﬂ%@-% oo | Sig | 83

B2} 40,00094x4Hx 122 = 1,920
-7EPIE 20,00094x4Fx 122 = 960
A2 27,000x4Bx40A |2t 128 = 51,840
FU2RY 210,00094x4%x242 = 20,160
oA 140,0009x4Fx 128 = 6,720
HAHRIH| 3,200,0004x4Hx60%x23] = 15,360
AAzpg 140,0009x4Fx14Y = 7,840
AESZRE| 168,960,00094x5% = 8,448
O33R (rrr2ld 4Y) 270,042
== 3,281,150x4Hx 128 = 157,496
EY 2,160
B2t 40,000x4Hx 122 = 1,920
-7 EPIE 20,0009 1@x12% = 240
AR et 26,920xATx40A[7Hx 122 = 51,687
UG 215,360 €x4x24Y = 20,675
ZoHFA] 140,00094x4Fx 122 = 6,720
HHRIH| 3,281,150x4Hx60%x23]| = 15,750
QAzpg 143,52094x4Fx11Y = 6,315
-BRRkeg 20,0009 1@x12% = 240
ASZE| 179,964,72094x5% = 8,999
OS2 (SE 7HERIY 19) 40,920
== 2,210,000x1Hx12¢ = 26,520
=Y 720
B2} 40,00094x1Ex12% = 480
-7EPIE 20,00094x1Ex 122 = 240
AZelpeadt 18,5009Ix1Hx28A|2x12¢ = 6,216
ZoHFA] 140,0009x1Ex 128 = 1,680
HAHRIH| 2,210,0009x1x60%x23]| = 2,652
AAzpg 98,4009x1Ex17Y = 1,673
HE R 29,172,00094x5% = 1,459

107 EI220 150,000 40,000 110,000

01 J3R2A(R7AY222}E2IZ0 150,000 40,000 110,000
OE|2lZ0] 150,000,00094x 1% = 150,000

200 =7y 6,688,554|  7,968,383| 21,279,829

201 Ygk2H| 1,481,382 1,235,367 246,015

01 Al 82,168 81,213 955
ORM2Y7|22H| 28,080
URkgH| 40,00094x26Ex 128 = 12,480
S| 50,000&4x262x12% = 15,600
OH|Ag4oia] Mgk 27 20 2 MEH| 1,920
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[ SEAIEY ]

Z(700)AIRIHIE  BH(710)FRBIE  MIBE(713)8-2=H]  =:(201)YRH2EH| CHol & 24
m_y.%rj'—.l-)f%r.a Ofl £+ o4 (:§| EOEH 4
-3 3 - = g
2 | 180,000x22x23| = 720
Ol MIEH] 25,00094x22x243]| = 1,200
OSRAZ22} Tf7 |4 |2 70,0007 A 122 = 1,680
O 22F 71 L FAH2/H| 1,500
23 2 82| AUt 200,0009IX5Z = 1,000
22| S FAEH| 500,000 = 500
OFEAY Smolle L fEAYT| x| CHAR |2
1,100,000x4Z = 4,400
OS2 g5 a40f A2 35,00094x 1574 = 525
OFHAY B0A 212 50,00024x100% = 5,000
OH| a0 Ak U2 30,063
=2 60,0009x1Hx365Y = 21,900
Y2 60,0009x1%x116Y = 6,960
S22} ZHAH] 2,5009x1Hx365% = 913
Y22} ZHAMH 2,5008x1Hx116Y = 290
OZRAZ22} O|=5H| 3,600
AAE(ER, Ydh 300,00094x9%Y = 2,700
2K QRS st 100,000&4x9% = 900
OZRAZ22} | 50,000&x9Hx12¢ = 5,400
02 332y 1,120,820 906,020 214,800
OEEAILE RTA w3y U AL R22/H| 68,200
Wy 800,0009Ix3174 = 24,800
SHRA|H]| 700,00094x62714 = 43,400
OM2Y 2|2 T2|A|AE(SIE0) FAZE|H| 30,000,000¥ = 30,000
O z[Z a2 AA - 222 8Y 800,000,000x10% = 80,000
OS&T &2H| 243 350,000,000% = 350,000
OZ[stA|dE S8 FsZAL BEF 200,000,000% = 200,000
ORHA| 2 e 8 200,000,000% = 200,000
OFp23H| RA| 500,000 = 500
OFrEIARH| RAH| 15,000,000¢ = 15,000
Obfis2] L 71 RAla2|H| 61,320
B2 2QIZH| 8| 1,110,000x12¢ = 13,320
HiZ| ZAAO] KA RA22| 8| 2,000,0009Ix12% = 24,000
POV RAl| 8| 2,000,0009Ix12% = 24,000
OFEAZY| AEEH| FR1H|| 3,000,000 1LY = 3,000
OFUOYz| RAlR2| 89| 2,300,00084x3174 = 71,300
OAEZY3| |AlEe] 89| 2,000,00084x12¢ = 24,000
OrtsE2(Rl RAjz2| 82| 500,0004x 16704 = 8,000
OATE FLUA FAH2/H| 9,000
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[ SEAIEY ]

ZH(700)AIRHEIE  Bh(710)FHIE  MEh(713)H-g4H]  5:(201) LB (Tl @ 2@
ni
T TS Ao | Fiia | B2
-WEH| 800,000&x6714A = 4,800
SR 700,000&x6714A = 4,200
OAOIESRYA| MR/ 500,0008x 1 = 500
1M AAeerz 10,254 10,254 0
OFEAYY| M- 5 165,000&x30 = 4,950
Ox7|erdet2|at MY Cidlz 221,0009x27|4x 128 = 5,304
12 n=RZH| 6,000 6,000 0
OYF=20F 2IESH| 2 NO|LK(HIE) 27H] 6,000
ArER0F MRV QeS| 400,00094x10%Y = 4,000
AER0F MO|LHRIAE) 2171 200,0002x10% = 2,000
13 Ya= 1,200 1,200 0
OHIEE g+aid gtz 30,000x8A[Ztx1CHx5Y = 1,200
21 332aYAN 234,540 204,280 30,260
Oz e OHE 5 W U&= 5509Ix62[x1,000744 = 3,300
OEEAAH R 7|, 4= 35,0004x627l4x 128 = 26,040
OHiS2| HZ|0] ME3IM 25 21,120
QY M 23 55,00094x874x 122 = 5,280
AlHHES|H ZH|(VPN) Atz 165,000&x872x 128 = 15,840
OFLUN2z| blz 30,0009x317|4x 128 = 11,160
OFASEHR| 7|, SLl= 50,000x13744x12¢¥ = 7,800
OAtsERQl A7, Stz 50,000x16714x12¢¥ = 9,600
OaT2 REPYUA 7|, 84z 50,00094x6714x 122 = 3,600
OLDIESYH Stz 10,0009Ix5CHx12% = 600
OFdstes 55,000&x11Chx 128 = 7,260
OYSZAEE ot 283 136,000
ArEAEE 130,000,000% = 130,000
Hieez| Y 2Lt 6,000,000 = 6,000
oY=zt d’I12a 30,000&x12¢€ = 360
Ozt Edd= L A 700,000&x11CY = 7,700
22 zfZh4deE] 26,400 26,400 0
O w22/ 200,000x11CHx12& = 26,400
202 O] 32,820 31,200 1,620
01 =Uic{H| 32,820 31,200 1,620
oYl 7|20 120,0009x20Hx12¢E = 28,800
OY+E MO|L, 238 2 0K ofd]
150,0008x4HFx2 Ux235| = 2,400
O3FAIZ24} o] 180,000&x9F = 1,620
203 YR 8,450 8,450 0
03 AJHZRIJ2Z2IH] 3,350 3,350 0
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[ SEAIEY ]

(700AIRHHIE  E(710)FYHIE  MEE(713)Hh-3H]  5:(203) PRI (Chel @ A
1 = 2] L=
T TS du | g | B4
OMSEAIY AlHAR2ZIH| 3,350,000¢ = 3,350
04 BEAM2ILRZZI| 5,100 5,100 0
ORMBYUR2H| (400,000+(5,000x5%H))x12% = 5,100
204 2R4eHAH| 90,300 84,600 5,700
01 AUZARHZ| 1,200 1,200 0
o532 100,00094x1@x12¢ = 1,200
02 ZAZEZRH| 52,620 47,880 4,740
ORgERH| 52,620
53 250,00094x1%x12¢ = 3,000
63 175,000&x9Fx 12 = 18,900
73 165,00094x8Fx12¢ = 15,840
8,92 155,00094x8%x12% = 14,880
03 E3YRaH| 36,480 35,520 960
0371 SAt 32 80,00094x25%x 122 = 24,000
O 2R, SAZ7 22| gY32d 80,00094x13Ex 128 = 12,480
206 AM=H| 43,500 36,700 6,300
01 <eR{=H| 43,500 36,700 6,300
OLAra2i2] U ADZ JQMH| 5,000,000¥ = 5,000
OEAZY| 2|22 L 22F 2| 30,000,000 = 30,000
Obfi=r2] ZHSHOHE LU UBRR] 2| 3,500,000% = 3,500
ORI 2|22l L 22F 7| 3,000,000% = 3,000
OEAEHIZRAY 2 A2F ]| 2,000,000¢ = 2,000
207 GH| 0| 1,500,000| A1,500,000
01 ¢789y| 0| 1,500,000| A1,500,000
214 AR WA 4844338 4,884,302 39,964
01 S5AZ7|mAH| 1,740,500| 1,348,420 392,080
OfEAZY| 7 2 WHZAH] 1,740,500
LAY F(D13mm~150mm) 61,000%x15,0004 = 915,000
PEAYY| WAHZAL 65,000%4x12,7004 = 825,500
02 Aokt 2,054,000 1,844,000 210,000
OAAE LA 71287 ZH|ZA} 3,000,000%x47071 = 1,410,000
OB AES & S43AH| 120,00094%3,000 = 360,000
OBH7| d4TAHE 7ISSAH| 120,0008x7002 = 84,000
OZHH 228 2HIAL 1,000,00094x2007 5 = 200,000
04  Z|YALEAIEH] 654,178| 1,305,222 £651,044
O=g fe S/ s JHZARY 2|t 654,178
o= A2 SETE SUERE JHZAIY 2|H|(37|H2YE DIAETHY)
600,0002x400MIEf = 240,000
ST S8R JHYSAF AUH|(F7|HEYE HRY)
386,0009x1,073ME = 414,178
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[ SEAIEY ]

HOOMHIE  SI0SNIZ  MEHTIDHTLY D Q142HSAIAY) (el - 2i2)
2 2 L=
TIERE Ao | Fiia | B2

05 R 395,660 386,660 9,000
Otfis=2| QRAEZA | 109,000,000¥ = 109,000
ORI A7k HaH| 230,000x7714x13] = 1,610
OBis=A| Al 22| 235,000
A2 55,000,000 = 55,000
ALE HAaH| 20,000,000¥x23| = 40,000
ALE RAH| 140,000,000¥ = 140,000
O/ 42 =4dH| 7,150,000&x774 = 50,050

215 =4 187,764 187,764 0

ORVIE H7|12a5(EHIIRY s 77h4) 187,764 187,764 0
2,063,000&x771|4:x12¢8 = 173,292
Otfse2| 7|23 (AMANBiRZ] & 6714) 201,000&x670ax128 = 14,472

300 Z&old 94,194 91,814 2,380

301 YetEdg 3,500 3,500 0

12 7|EtEdE 3,500 3,500 0
OFTAINEAA &4FH 2 10,000&x3500 = 3,500

303 Za= 2,700 2,700 0

01 DM 2,700 2,700 0
OSFAIZZ2A} ¢tz 300,000x9Y = 2,700

304 A=RYIS 62,994 65,614 N2,620

01 ¢aRY=a 26,003 27,148 A1,145
O3F2IZ2A =20Kg fEHE 26,003
SEAEERIH(ET) 266,848,000%x45/1,000 = 12,009
£ ) 270,042,000¢x45/1,000 = 12,152
Sligezt HEAE(1F) 40,920,0009x45/1,000 = 1,842

02 =RNALEHRESS 36,991 38,466 A1,475
OsFAZZE2} Eddz BEa 36,991
SEAER|A(EY) 17,082
Al 266,848,0004x34.3/1,000 = 9,153
LRI |IQYLEHR 9,153,000/x122.7/1,000 = 1,124
-185852 266,848,000€x16.5/1,000 = 4,403
ARiEHR 266,848,000€x9/1,000 = 2,402
R e () 17,287
-HEEER 270,042,0009x34.3/1,000 = 9,263
-QIAV|QAEAHR 9,263,000&x122.7/1,000 = 1,137
-N88%R 270,042,0009x16.5/1,000 = 4,456
AEEz 270,042,000€x9/1,000 = 2,431
Slgegt WA 2,622
Azl 40,920,000¥x34.3/1,000 = 1,404
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[ EAlgt ]
ZL(700)AIRBIE &

(710) SYHIE

Mg} (713)81-2<8|

=:(304)HsFg=S

1 =2 2 L=
T ATE At | Gha | B2
- edES s 1,404,0009x122.7/1,000 = 173
-NEEHR 40,920,000¥x16.5/1,000 = 676
e s 40,920,000¢x9/1,000 = 369
305 HidZs 25,000 20,000 5,000
01 Hid=S 25,000 20,000 5,000
ORIZkESHHe (0124, 2, 7(ERRIF) 1,000,00084x208| = 20,000
ORHo|5Z et 5,000,000¢ = 5,000
717 SHiSAH| 1,500,000 1,000,000 500,000
200 =7 1,500,000 1,000,000 500,000
231 AEZAH 1,500,000 1,000,000 500,000
Ogs3AH| 2,000,0008x75071 = 1,500,000 1,500,000 1,000,000 500,000
770 FYUHIE 0 364,000 A364,000
782 H7|EQldEA 0 364,000 A364,000
802 “Btelz7|Et 0 364,000 A364,000
14 A7|eedad 0 364,000 A364,000
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A S0[LEM (R AMB)
242t ]
BGOOAQHIE  BH7I0SMIZ  MEHCIDSAZLH]  2:(20022] (ol : 2l
2 2 L=
T TS Ao | Fiia | B2
A 20,536,850 22,520,537| 21,983,687
700 AtgHIE 20,536,850| 22,520,537| 21,983,687
710 FYHlE 20,536,850 22,520,537| 21,983,687
711 Uz 13,989,282 14,940,725 A951,443
200 =7 13,989,282 14,940,725 A951,443
206 Z=H| 13,989,282 14,940,725 A951,443
03 7| 13,989,282 14,940,725 A951,443
O3] 13,989,282
2es 70¥x164,000€x365Y = 4,190,200
INEEas=s 163.73x164,000Ex365% = 9,799,082
712 EH| 6,547,568 7,579,812 21,032,244
100 QI7H| 3,195,301 3,152,207 43,094
101 QIAH| 3,175,301 3,132,207 43,094
01 Ex 2,363,876 2,363,282 594
Oo7l2a 1,573,120
Se(HSA) 6,969,300x18x12& = 83,632
=(3228) 4,470,3002x128x12& = 643,724
7531=28) 4,046,2002x13Ex12& = 631,208
HHAH32ES) 4,469,9009Ix4Ex12E = 214,556
o= 543,783
d2e 1,573,120,00094%1/12x50%x%23| = 131,094
s I = 42,240
-25E o4 130,0002x11Ex12& = 17,160
-20 O|4 25\ 0|2t 110,0002x198x12& = 25,080
e N e 78,999
-69 12,3219x8H=28A7tx12¢ = 33,119
A= 11,1302x8HX28A7tx12¢ = 29,918
-QIEAL 11,876%x4Hx28A[7tx12¢ = 15,962
IR 2R Y 121,571
-65 12,3212x6FXT2A[7x128 = 63,873
-7g 11,1302x6HXT72A[7x128 = 57,698
AUSFH ORIERTY 35,978
-69 32,856%x3Ex365Y = 35,978
EeY 28,800
oz} 40,0009x308x12% = 14,400
JEPE 20,000x60Hx12¢ = 14,400
LJEZETHED) 50,000&x30Fx12E = 18,000
U o9 46,301
-65 4,470,3002x10Ex4.1%x 128 = 21,994
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[ E+2t]
Z(700)AIRAHIE  BH(710)FRHIE  MIBE(712)deH] F:(101)Q174H] ool - HY
:lj.%ﬁhf@.; Off & %gi 54
72 4,046,2004x10Hx4.1%x 12 19,908
-GALAL 4,469,900x2Hx4. 1%x 122 4,399
et el 50,00094x18%x 12 10,800
PN sy 4,560
k5, 2tz 20,0008x13%x 122 3,120
-2 30,000&4x4% x12% 1,440
L R R 270,0009x5%x12¢ 16,200
JeyELY 9,240
52 50,0002x1%x12¢ 600
-62 30,00094x12%Y x12¢ 4,320
RIS, 7IA 30,0008x12%x 122 4,320
OZMZAH| 140,0004x31%x12¢ 52,080
OBHEFIH| 1,573,120,00094x1/12x60%x23| 157,312
O¢7 24| 1,573,120,00094x1/12x86%x1/30x 10 37,581
02 7[ERRES 671,585 596,472 75,113
o7les 455,167
HUFAB1ESE) 4,270,100x8%x 12 409,930
-UBRUT [ (FHEA) 3,769,75024x1%x12¢ 45,237
oY 127,087
doeg 455,167,00094x1/12x50%x23] 37,931
s A = 130,000x8Ex12¢ 12,480
2R 11,9259 x28A|7tx12¢ 36,062
ORF2RG 31,800x2Ex365 23,214
NEY 8,640
-4t 40,00094x9Ex12¢ 4,320
-J|EPIE 20,0002x18%x 128l 4,320
el el 2,520
- YA 20,0008 122 1,920
- YBRITIA 50,00094x 1 %x 12 600
(71371 SAt 3RAY 80,0009Ix1Ex12¢ 960
(A7 AR 50,0002x1x 122 600
(A el 50,0008x1x12¢ 600
(7 A)7 R 20,00094x1%Ex12¢ 240
37| BAL YE+Y 30,00094x8Fx 122 2,830
HEPL(ERY) 80,0008x1%x12¢ 960
OZMZAH 140,0004x9%Ex12¢ 15,120
OYH7IH| 455,167,00094x1/12x60%x23] 45,517
O¢7 24| 455,167,00094x1/12x86%x1/30x 10 10,874
OZlZEZH| 165,000x9Ex12¢ 17,820
03 JRA(R7|AY) 22224 139,840 172,453 A32,613
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42t ]

2 (700ARBIE  8h(710)FYHIE

7 =2 2] Lz
n_r-;xﬂﬂ@-% oo | Sig | 83

02 W23 i, =2p2| S 223 139,840
l2a 2,249,4002x4%x1 22 107,972
TNEeg 3,840
-Bi<At 40,000x4Hx12¢ 1,920
JEPE 20,000¢x8Hx12¢ 1,920
IR 18, 77024x4BX5AIZx 1 22 4,505
ZoHgA| 140,0009x4%x 124 6,720
S| 2,249,4002x4Hx60%x 23] 10,798
Az 100,080¢x4Fx15Y 6,005

107 ERAZH 20,000 20,000 0

01 BRA(R7[ARYRRAE 220 20,000 20,000 0
OEl2Zd 20,000,000%4x1H 20,000

200 27| 3,334,480 4,406,447 A»1,071,967

201 2| 967,688| 936,019 31,669

01 Azl 115,828 98,685 17,143
ORM2YE 7|223H| 40,000¥x31%Hx 128 14,880
0zl g 7,438
G 60,0001 Hx119Y 7,140
ZhAlH| 2,50020x1Ex119% 298
ORI 7 L MEH]| 1,680
2 ME 20,000&x22x243| 960
2 7Y 180,0009x22x23] 720
Oxa Mt 2 =222 A2F | 80,0008x3Ex12¢ 2,880
Od4d L st 285 A2 5,000,000 5,000
Ofxs 2E M 97t 2,900,0002x13] 2,900
ORASE U AZO ZAHR| 1SO2Z 2| 9,300
LE2 2AOIZ AsHa| 2AE 5,000,000% 5,000
Txa TARIS AR MAH] 4,300,000¢ 4,300
OJZorHE2|(PSM) 2 HAME 43,000,000% 43,000
OTZE=Y7IRee] 2Mpa 100,000€x10H*23| 2,000
Oz HIAZRA | 50,00024x8x12& 4,800
OZRIUTFA} | 50,000x20%x12¢ 12,000
OW4H 222 12| 8,600
AAE(2=Z, Yo 300,000x20H 6,000
2HASHORMS) 8ISt 100,000x20Y 2,000
AP 2R AEs 50,0002x6E*23| 600
OSFA(sA1He|, geexadih) 222t o5 1,200
A (EZ, Lo 300,0009x3%H 900
2ASHQIMS}, WEkah) 100,000&x3H 300
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ey
(00AYEIE  BETI0TUIZ  MEH71WAE]  2:0nAsesH Cigl : H2)
7 =2 2] Lz
n_r-@frﬂr@-% oo | Sig | 83

OZR2(SH=aet]) 222 O|EH| 150,0009x1 = 150

02 3529 767,360 749,896 17,464
OZY oaE 18 XU 3SZx|=H| 500,000¢ = 500
OEHLAR| 2,100
-SRI} 150,000&x6H = 900
ORISR 60,000¥x20Y = 1,200
OZH|RA|H| 77,860
TREY AEY| &4 L RRIEEIEGH| 1,630,0008x22& = 35,860
HESZAKE AIFEH] FA122 | 40,000,000% = 40,000
O|S&H| FAH| 50,000¥x102x43| = 2,000
OZed =x| 2| 80,000,000% = 80,000
OdeAdE HY2EA 80,000,000¥x23| = 160,000
OdFAIEE SRl 350,000,0002 = 350,000
Od4d SLH AL 2F 84| 41,000,000& = 41,000
OA|H&H|IRFA|H| 55,900
SUEE U =52 fA122|H| 575,000¥x12¢ = 6,900
A FA 2| 1,500,000¥4x23| = 3,000
RN HEFAE M 2 R 23,000,000%x274 = 46,000

1M1 A= 65,250 68,043 N2,793
OFd dole| QEers 430,00094x12¢ = 5,160
OZgkzR HAH| 1,200,000&%x238| = 2,400
Od4d g A=H| 150,000¥x58| = 750
OXLY7IA HEAY H7|8A o2 250,0009x271|4x33| = 1,500

OXNAT A HEAL QHRAZH|(VIAHR|7]) 2ud +47

4,600,000&x13| = 4,600
Otz LU Zas2i| AL 02 270,0009x23|x12¢ = 6,480
OFxs 2F AP S2ZFAH| 11,800
22 HIo[HA ZHAH| 1,500,000E%23| = 3,000
e AR £ETA 880,00094x103| = 8,800
Ofs U o3 Zud o= 766,6002x60 = 4,600
oMot 2} Mprz 100,000&x2H = 200
OM7|4dH| QR 5 8,000kwx 1,760 = 14,080
OZFz||e! &Y SO|AE QML 47 480
== (! 100,0002Ix3CHx 13| = 300
‘BO|AE 90,000€¢x2CHx 13| = 180
O0lafstd AdetA=4H| 1,600,000x23| = 3,200
OZAP |2 Al L IV |E QERZ| o= 2,000
AT~ 250,000¥x4& = 1,000
HEA L = 5,000¥/x200kg = 1,000
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ZH(JO0OAIREIE  SE(710)FYHIE  Mgh(712)34H|  =:(201) LBk IH| el : g
ni
B sy | S8 | 33
OY=SdAP 2 £HZHYH| HuY S22 8,000,0008x13| = 8,000
12 usEHH| 10,000 7,145 2,855
OMSEE0F QEfngH]| 10,000
AT H0f 2127|2 9JEfngH 400,00024>x20%Y = 8,000
MAZE0F MO|LHYTE) 27| 200,000¢4x10%Y = 2,000
21 S323ZANM 4,900 7,900 ~3,000
Oz AHMS2= 3,700
SHWIRES 100,00024x1CHx23] = 200
AS2HA 500,0008! = 500
253t HE2 3,000,0009 = 3,000
OXYTIAAIY SHgae] o= 600,00094x23] = 1,200
22 2fZrdd] 4,350 4,350 0
Oz RAR2|H| 1,450,0004x3cH = 4,350
202 ofH| 33,120 35,520 £2,400
01 =LHoiH] 33,120 35,520 £2,400
OYR=2l 7|=204H| 120,000x20Hx12¢ = 28,800
OMIDILE, &3] 20A 2 Hil|ory 20jH|
150,00024x4Hx2YUx23| = 2,400
0322 7j20iH| 1,920
372 ols4y| 3,000x4Yx53|x12¢ = 720
SR2 HEUS Yol 20,0002x4Hx63]| = 480
S22 =Y 232 2A2HY o 180,0009x4% = 720
203 YF=ZLH| 8,930 9,110 180
03 AMRUYS2ZIH] 3,350 3,350 0
OYTEAIY AYEZ2IH| 3,350,0008 = 3,350
04 SAMRYYR2H| 5,580 5,760 ~180
ORMRYYFZLIH| (400,00084+(5,00094x13%))x12¥ = 5,580
204 2253 ZH| 94,440 90,600 3,840
01 ZAZLPLAUZH| 1,200 1,200 0
O55 100,000 1%x12¢ = 1,200
02 ZgEzH| 64,440 60,600 3,840
OZlgEzY| 64,440
52 250,00094x1%x 128 = 3,000
62 175,00094x13%x 128 = 27,300
72 165,00094x13%x 128 = 25,740
Q1AL 175,0002/x4%x12% = 8,400
03 SZPaH| 28,800 28,800 0
O37|YSAt 32 80,0009{x30%x12¥ = 28,800
206 A=H| 685,152 728,598 43,446
01 EkfZH| 91,000 81,000 10,000
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BH(OOARIEIE  BHZI0EAEIE MBI 20642t ci9| ;12
=2 2 L=
TIERE Ao | Fiia | B2
OFdEME 714 7Y 10,000,000 = 10,000
OF2ZAE dH| L A & 22 7Y 15,000,000¢x45| = 60,000
ogeizgy + 1,500,000¢x12& = 18,000
OAMBHCHHE 2R 3,000,000 = 3,000
02 <=4 594,152 647,598 A53,446
OBAUE 2 504,152
STA| 300%dx3,553kgx365¢ = 389,054
=4 560%x420kgx365Y = 85,848
EEt 2,2009x600kgx60Y = 79,200
pHZEZA| 300€¥Ix350kgx210¥ = 22,050
DEASEA 3,750%x20kgx240Y = 18,000
207 A 0 750,000 750,000
01 G849 0 750,000 750,000
214 MR WA 447,870 713,000 A265,130
05 AIRAH 447,870 713,000 A265,130
OF+EHA| 22| 97,350%x350&x12¢& = 408,870
OBAY AlME YUY 30,000,008 = 30,000
OBAY AIME F7IorE 9,000,000%! = 9,000
215 =4 1,097,280 1,143,600 246,320
IO@-’?JS HEez 1272x720,000kWx12% = 1,097,280 1,097,280 1,143,600 246,320
300 Z&old 17,787 21,158 A3,371
301 YBHHF 0 2,400 22,400
09 strubiz2is 0 2400|  £2,400
304 ASRHYIS 17,787 18,758 2971
01 ¢aRE=a 6,293 7,761 1,468
OsF3| =Z0Ug BE= 139,840,000%x45/1,000 = 6,293
02 IRIYLHLEIS 11,494 10,997 497
oUW IR BB HOT 25577
Fara L = 67,343,000%/x34.3/1,000 = 2,310
LoIRTIeAEH 2,310,000%x115.2/1,000 = 267
0393 BYR PU3 8917
aydes= 139,840,000&x34.3/1,000 = 4,797
LOIRVIQULHR 4,797,000€x115.2/1,000 = 553
lgEd= 139,840,000¥%16.5/1,000 = 2,308
LREAHZ 139,840,000€x9/1,000 = 1,259
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A= 1 2023
opE - 8%

F 9 9 7 H & 29
AE3S = o AE3Ss = 9
A 12,360,000 A 8,716
EXRRpARE Bz IS
OJ|EF2QIZ5|440! 12,360,000 ollel2 8,716
A 2,347,262 A 16,794,306
A2 U024
SRR ERF Q! 2,347,262 == 11,011,992
FERMERIS
A 4,800,000 &7 |7HIE 396,964
FEAE E=MAYZ 3,700,000 HESQIRA 5,385,350
0|2 1,100,000 A 497,663
of|H|H|
Ol |t 497,663
st A B 19,507,262 st A B 17,300,685

2 o (A-B) = 2,206,577
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= T e
e o aroy | BH= ) =5
- N -F o Ak of c =
A 19,507,262 21,311,528 ~1,804,266
100 A2 19,507,262 21,311,528 ~1,804,266
110 FARKAZ 12,360,000 0| 12,360,000
114 Olelzezsley 12,360,000 0| 12,360,000
01 oEeEEEserY 12,360,000 0| 12,360,000
O OefzeaalrsYy 12,360,000,000¢ = 12,360,000
170 2R2Yd=z4Y 2,347,262 12,811,528 ~10,464,266
175 SAREZFY 0| 12,811,528 212,811,528
09 7[ERSAREEsY o[ 12,811,528 212,811,528
177 HAAREFZHY 2,347,262 o| 2,347,262
01 REHF 2,347,262 o| 2,347,262
O ARREF 2,347,262
SrEAH0MM7 ) 395,00094%x3,0004 = 1,185,000
IS S 1,162,261,4409 = 1,162,262
180 REAZ 4,800,000/ 8,500,000 23,700,000
181 &MALOIZ 3,700,000| 7,000,000 43,300,000
01  &=MAYAZ 3,700,000| 7,000,000 A3,300,000
OTMALNZ 3,700,000,000% = 3,700,000
182 O3 1,100,000| 1,500,000  2400,000
01 Gz 1,100,000| 1,500,000  2400,000
O 87t O3z 1,100,000,000¢) = 1,100,000
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A| Z0| AbA (A )
[ SEEY ]
ZRO0AZHRIE  SHR0)FARMRS  MEkQ24)0lE S  =:(704)0lE=S (Cel - 9
i 2 2] L=
TIERE Ao | Fiia | B2

g A 613,519 4,124,391 23,510,872
200 2R2A2IE 613,519 4,124,391 23,510,872
220 SRS 8,716 3,132,000 43,123,284
224 Olelz 8,716 3,132,000 43,123,284
704 OfElz 8,716 3,132,000 43,123,284
OOCj[ErZ 8,716,0008 = 8,716 8,716 3,132,000 43,123,284
230 FIALRS 107,140 498,000|  ~390,860
232 Y= 0 494,400  £494,400
401 A|LH|LECHH| 0 494,400  £494,400
01 AldH| 0 494,400  £494,400
237 37|7HIE 107,140 3,600 103,540
405 AHERISH| 107,140 3,600 103,540
01 ZRMIUSFZSH| 107,140 3,600 103,540

OAE 22718 D272 My DX 107,140,0002x 14} = 107,140
800 OfH|H]| 497,663 494,391 3,272
801 OfHH| 497,663 494,391 3,272
801 OfH|H]| 497,663 494,391 3,272
01 utofsy| 497,663 494,391 3,272

OOj||H| 497,663,0008) = 497,663
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AES0LEM (R ME)
[ SEAldDt]
2(200)AF2ARE SR (230)RAAZIS S(234)FEE  F:(401)AILH|LROH| (Chel @ 2
n
T3 AT S At | §ha | B9
g 12,050,070 11,472,515 577,555
200 ZAAzZ 12,050,070 11,472,515 577,555
230 RYALZIS 12,050,070 11,472,515 577,555
234 =8 6,661,520 11,199,815 24,538,295
401 AlAdH| L2 CHY| 6,661,520 11,199,815 24,538,295
01 Al&ZH]| 6,644,000| 11,167,250| ~4,523,250
OMPES 8 WAHIZAL 6,144,000
2YE LUK2) ==t WHZA 480,0009Ix2,000m = 960,000
AZE AUQY(K3,4) =T W2} 480,00094x2,000m = 960,000
EYE LAU(K12) ==t WASA 480,0009Ix1,500m = 720,000
NI AQ(K13) & WH|ZAL 480,000%4x1,700m = 816,000
Us L (K16) =2t nAIZA 480,00024x2,000m = 960,000
AEE YA(K32) =28 WAHZAL 480,00024x1,900m = 912,000
ATEE AULIN3,6) =TT WAHZA 480,00024x1,700m = 816,000
SEAILH HH| HUEY 50,000,0004x478 22 = 200,000
OHj22| BAEZETA} 300,000,000% = 300,000
03 AlESCH| 17,520 32,565 A15,045
OMLE 53t WH|ZAL 6,144,000,000%x0.25% = 15,360
OHlj22| B2EZETA} 300,000,000x0.72% = 2,160
236 AIFRU 0 270,000  A270,000
405 AMtRSH]| 0 270,000  A270,000
01 ZRIUSZZSH| 0 270,000  A270,000
237 &7|HIE 3,200 2,700 500
405 Appk|SH]| 3,200 2,700 500
01 ZRILUSZEZSH| 3,200 2,700 500
O] 1,600,0004x2cH = 3,200
239 AEIQURpA 5,385,350 0| 5,385,350
401 AlAdH| L2 CHY| 5,385,350 0| 5,385,350
01 Al&gH]| 4,500,000 0| 4,500,000
O dad Dedexe|AlY M| A 4,500,000,000% = 4,500,000
02 Z2H| 875,000 0 875,000
O d4ed DePexe|Ald H| A 875,000,000% = 875,000
03 AlESCHH| 10,350 0 10,350
ORI d4ed DEPexe|Ald H| A
4,500,000,000%4x0.23% = 10,350
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A 20 LM (FAME)

et ]
(200)AH2A2| &h(230)RUAMRIS  Mh(Q234)TEE  =:(401)AIHH|ZECH (T2 23
=2 2] L=
R oo | §iig | s
g A 4,637,096 1,328,105 3,308,991
200 A2ARZ 4,637,09| 1,328,105 3,308,991
230 REMERIS 4,637,09| 1,328,105 3,308,991
234 =& 4,350,472 1,103,105 3,247,367
401 AlMBILSCH] 4,350,472 1,103,105 3,247,367
01 AlgH| 4,334,865 1,097,000 3,237,865
04| A B4EZE ZA 1,450,000,0009 = 1,450,000
O71¢E tiEED U HE WAt 1,147,865
(AT Az=0H d3 407,105,5008>2c = 814,211
HE WA At 82,302,0004x24] = 164,604
CRIAEY ZAt 84,525,000&x24] = 169,050
O 285d 28] nASAL 1,737,000
S DA 71ASAL 537,000,000&x341 = 1,611,000
EbAMY| D3| H7|2AL 126,000,00094x 14| = 126,000
03 Ald=chH| 15,607 6,105 9,502
OS2l Ad B4 SAt 1,450,000,00094x0.36% = 5,220
O71E tiEET U HE WAt 1,147,865,00094x0.36% = 4,133
O 285 a8 uySAL 1,737,000,00094x0.36% = 6,254
236 2k 0 45,000 45,000
405 ARAZISH]| 0 45,000 45,000
01 ZRMASFZISH| 0 45,000 45,000
237 3717HIE 286,624 180,000 106,624
405 ARAHZISH]| 286,624 180,000 106,624
01 ZRILSZZSH| 286,624 180,000 106,624
O7|H|Z20tE Tefm| HZEEM7I(GC/MS) #+ 180,000,000 1CH = 180,000
OO|2320tETI|(IC) $2EM7] 7 100,000,00084x1CH = 100,000
OE7IS AFRA | 43 2,975,00084x 14| = 2,975
OE7Is AMRA IR (RY) 7 195,00094x47H = 780
OE7Is MR 371337 7 449,0009x17H = 449
OHg ¥a $37|(RIE=S) 71 660,000x2CH = 1,320
o287 71 1,100,0002Ix1CH = 1,100
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AL 1 2023 Fx

OltE - 8=

(2l : 2g)

=

Pl

C} L= = 0" 2] OH = 7}
£ 23 (A) 69,766,227 70,039,116 A 272,889
A 49,072,766 47,653,604 1,419,162
AEEQ 47,223,466 46,316,304 907,162
e

SHlieEA 1,500,000 1,000,000 500,000
7|efE el 349,300 337,300 12,000
A 1,186,199 1,073,984 112,215
e od Rl 0|z} 384,912 240,620 144,292
ElS|AHZ s 801,287 833,364 A 32,077
A 12,360,000 0 12,360,000

EXR A
OlEl2 228l 12,360,000 0 12,360,000
A 2,347,262 12,811,528 A 10,464,266
2oz SAERESY 0 12,811,528 A 12,811,528
QIR EFZ 4R 2,347,262 0 2,347,262
A 4,800,000 8,500,000 A 3,700,000
FEAZ E=NAH Y2 3,700,000 7,000,000 A 3,300,000
Ol 1,100,000 1,500,000 A 400,000
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1O O | S
Ala2BAH =
BAelE : 2023 HE
o7 : g (Si9) - 22
e YW= O H o | AR z
= (A) (®) (A - B)
21 & 23 (B) 69,766,227 70,039,116 AN 272,889
A 52,258,555 52,541,396 A 282,841
LR 27,604,765 26,367,888 1,236,877
| 6,547,568 7,579,812 A 1,032,244
IHIE Bi-=<=H| 9,139,065 10,435,649 A 1,296,584
= HieSAH| 1,500,000 1,000,000 500,000
okl 2,351,494 2,178,025 173,469
HeUaE7RH2[H| 5,115,663 4,980,022 135,641
A 6,987 372,709 A 365,722
FE 7ElIYRlHE 1,687 1,709 A 22
H|EsgEl 5,300 371,000 A 365,700
A 200,000 200,000 0
ofleH]|
ojle|y| 200,000 200,000 0
) A 8,716 3,132,000 A 3,123,284
SRS
OlElm 8,716 3,132,000 A 3,123,284
A 16,794,306 13,298,620 3,495,686
U= 0 494,400 A 494,400
TE= 11,011,992 12,302,920 A 1,290,928
QEALRS
2224t 0 315,000 A 315,000
37|17HHIE 396,964 186,300 210,664
HLSQUR L 5,385,350 0 5,385,350
A 497,663 494,391 3,272
ofleH]|
ojle|y| 497,663 494,391 3,272
2 o (A-B) 0 0 0
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O AR - E2 (T« AE)
B of 4+ o A oy 22
8t A 69,766,227 70,039,116 A 272,889
100 . Q124 100 8,439,529 8,441,247 A 1,718
o124t 101 8,269,529 8,321,247 A 51718
N (101 - 01) 5,406,096 5,491,797 A 85,701
pSEIES (101 - 02) 710,274 635,135 75,139
gXAE A=A (101 -03) 2,073,017 2,194,315 A 121,298
IR AR IS EA (101 - 04) 80,142 0 80,142
&|2130] 107 170,000 120,000 50,000
ga o == (107 - 01) 170,000 120,000 50,000
200 . 22| 200 41,881,105 42,305,551 A 424,446
kol 201 3,002,646 2,681,349 411,297
NIERIEI (201 -01) 375,796 321,398 54,398
2zegy| (201 -02) 2,072,884 1,780,786 292,098
PERON] (201-11) 207,200 207,072 128
InEEE (201 -12) 34,000 31,145 2,855
P (201 -13) 3,240 5,040 A 1,800
222U (201 -21) 361,576 299,278 62,298
2t At (201 -22) 37,950 36,630 1,320
ot 202 145,080 121,920 23,160
2ufoiH] (202 - 01) 121,080 97,920 23,160
2510fH| (202 - 04) 24,000 24,000 0
SEERN] 203 34,350 34,890 A 540
HOIHAIAR2ZIH| (203 -02) 7,740 7,920 A 180
NEEFS=ER (203 - 03) 10,050 10,050 0
L ERY] (203 - 04) 16,560 16,920 A 360
2|0 A sy 204 258,360 246,540 11,820
2GR A (204 -01) 3,600 3,600 0
2T 7| (204 - 02) 157,800 146,940 10,860
SRz (204 - 03) 96,960 96,000 960
U] 206 28,333,417 27,133,186 1,200,231
sz (206 - 01) 134,500 117,700 16,800
oFZH| (206 - 02) 594,152 647,598 A 53446
2U27oH| (206 - 03) 13,989,282 14,940,725 A 951,443

_83_




2023 A SAE A==2A
Oft-= - g= (Tl - 3)
72 off A o S ofjtol 3z

et (206 - 04) 13,615,483 11,427,163 2,188,320

P L] 207 55,000 2,272,000 A 2,217,000
HLEAH| (207 - 01) 55,000 2,272,000 A 2,217,000

SRR A |H| 214 7,177,208 7,484,302 A 307,094
DA | A (214 - 01) 3,625,500 3,235,420 390,080

Aot | (214 - 02) 2,054,000 1,844,000 210,000
AIHAIGAI L (214 -04) 654,178 1,305,222 A 651,044
PARA (214 - 05) 843,530 1,099,660 A 256,130

=38 215 1,285,044 1,331,364 A 46,320

A ESAH 231 1,500,000 1,000,000 500,000
300 . Aol 300 1,937,921 1,794,598 143,323
YUEHE 301 3,500 5,900 A 2,400
AR &S (301 -09) 0 2,400 A 2,400
7|El2AE (301-12) 3,500 3,500 0

Zds 303 13,200 13,200 0
ZAF (303-01) 13,200 13,200 0
G=fess 304 1,896,221 1,755,498 140,723
d=FEs (304 -01) 1,485,087 1,351,989 133,098
IAAESHEEZS (304 -02) 411,134 403,509 7,625

Bidas 305 25,000 20,000 5,000
HidES (305-01) 25,000 20,000 5,000

400 . AH2ARIE 400 16,794,306 13,298,620 3,495,686
Al 2H|ZEChE| 401 16,397,342 12,797,320 3,600,022
Al28| (401 - 01) 15,478,865 12,758,650 2,720,215

Z2|H| (401 -02) 875,000 0 875,000

Al 25 H| (401 -03) 43,477 38,670 4,807
ApLtziSH] 405 396,964 501,300 A 104,336
AR EFSH (405 - 01) 396,964 501,300 A 104,336

700 . LEAHH 700 8,716 3,132,000 A 3,123,284
&= 704 8,716 3,132,000 A 3,123,284
800 . OjiH[H| 800 704,650 1,067,100 A 362,450
Oile8] 801 697,663 694,391 3,272
Leofs[H| (801 -01) 697,663 694,391 3,272
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Al ‘ll..EZ -|
2023 4 o_I 58 =LA
A gk cro| : 29
— [ o T [y
2 of At o HAE ofjAtoY z
2tz 802 6,987 372,709 A 365,722
Aoy (802 -14) 5,300 371,000 A 365,700
J|EfEeHI= (802 -15) 1,687 1,709 A 22
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(&9 - A
QA8 FARG D FAA
_ BN AvE
R S
: : 1%

Age | Az | I3 | aoe | Az | | AR
71 | 67,506,000 4375,572| 2,227,000 2148572 0 0] 2148572 14,593,000( 24,300,000| 24,237,428
Al | 64,005,000 4,370,641 2,227,000 2143641 0 0] 2143641 13,707,650 23,043,140] 22,883,569
e 3,372,000 0 0 0 0 0 0] 875,000 1,200,000 1,297,000
AP 129,000 4931 0 4931 0 0 4931 10,30 56,860 56,859

R

4‘:;‘ :]- 01 2| WAEB | 67,506000] 4,375,572 2,227,000 2148572 0 0] 2148572 14,593000| 24,300,000] 24,237,428
A Al | 64,005,000 4,370,641 2,227,000 2,143,641 0 0] 2143641 13707650 23,043,140] 22,883,569
ZeH| 3,372,000 0 0 0 0 0 0] 875,000 1,200,000 1,297,000
AP 129,000 4931 0 4931 0 0 4931 10,350 56,860 56,859
Z7HB-A) 0 0 0 0 0 0 0 0 0 0

00

2. MHEFEUHA =M : Hzat

(<]
7 A - H- 3 9 A 555 e _
of| 4k -5 A WA ArelAle 5 %TQLJ 3 —r‘% A8
I .
3. QXM HE X HEXZAM : 0SS
(] EX/Hni [nf, F 5 2)7FH /4
A5 A 9 A B A 3

1T A

8 | g | AT | 3= Ap | AF7E | ARl
) | TE 05 e e JF
il 24 9] 39 |29 29
S R

_89_



